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Find the greatest common factor for the expression.

28b + 14b? + 35b% + 7b5

Split up the terms

\
288+ 1467 3563+ 76>
3 -——7 3 7 Find the largest number they divide by

(7 is the GCF)

Since each has a "b", it is also the GCF

(1is the lowest exponent, so the GCF is b')
7b(4 + 2b + Bb? + b*

Divide each by 7, and take an exponent from each
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Find the greatest common factor for the expression.

Split up the terms

6x* + 18x3 - 30x?
Find the largest number they divide by

68+ 18&3\- 300 s the GoF)
é é é Since each has a "x", it is also the GCF

(2 s the lowest exponent, so the GCF is x?)
6x2(x%+ 3x - B)

Divide each by 6, and take 2 exponents from each
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Find the greatest common factor for the expression.

Split up the terms

25x3 - 10x2 + 15x - 5

Find the largest number they divide by
(5 is the GCF)
25x- 10x7}+ 15x[- 505
5 s 5 [ Since each one DOES NOT have a "x",

itis not part of the GCF

Divide each by 5, and leave everything else alone




